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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

EUS-3 / SECTION-A

U T 1 W4 H YouE & 1 3% T

Question numbers 1 to 4 carry one mark each

1 ADEW, # AB|[EW 1 af€ AD=4 cm., DE=12 cm. 91 DW = 24cm &, @1 BD &1 91 91d Fifvw) 1

In ADEW, AB|[EW. If AD=4 cm, DE=12 cm and DW =24 cm, then find the value of DB.

2 & HIC : sinf.sec (90°—6) 1
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Evaluate : sinf.sec (90° —'ﬁ)

3 tan 55°.tan 45°.tan 35° <1 A9 A1q i |

Find the value of tan 55°.tan 45°.tan 35°.

4 frerfafEa arema de @ e o1 [ FIT :

fafe = =i | 1400- 1550-1700 | 1700-1850 | 1850-2000
2 @ 1550

@] shi G 8 15 21 8

From the following frequency distribution, find the median class :

Cost of living | 1400- 1550-1700 | 1700-1850 | 1850-2000
index 1550
Number of weeks | 8 15 21 8

FUS-F / SECTION-B
39 & 5 | 10 § YIH & 2 A B |
Question numbers 5 to 10 carry two marks each.
5 SR TURETE fafdl gRI 12, 63 TR 99 1 HCF 3R LCM 91 Hifsie |

Find HCF and LCM of 12, 63 and 99 using prime factorisation method

6 St ST FoF 1 150 1 SIF S{ Y1 € Al € S n T WIHd HeA 87

Check whether 15M can end with the digit 0 for any natural number n.

7 At o AT @ FEIE N2+ 12y +4 F IEF A A o+ o+ o HAF Fd KT
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If o and B are the zeroes of a polynomial 9y?+ 12y +4, then find the value of a+B+af.

ABJ[CD 1% T Tera ABCD ¥, 3f2 AB= %CD A9 &S (AAOB) =21 cm? %, T ACOD &1 2
AAFA 1 I |

D &

In trapezium ABCD with AB||CD, if AB= %CD and ar(AAOB) =21 cm?, find ar(ACOD).

D 2

g

9 maﬁﬁq cosf - 1 — sinf 2

1+ sin6 B cosb

cosf6 11— sin@

Prove that : — =
1+ sind cosb

10 100 H9oT %1 WA 3R TEAE FEE: 50 SR 52 1 HEE @9 Y9vT 100 ¥1 98 § 3@ g fE aw 110 2
o1 9 R 100, T G TIE SR A1 Fd RIS |

The mean and median of 100 observations are 50 and 52 respectively. The value of the largest

observation is 100. It was later found that it is 110 not 100. Find the true mean and median.

TYUE-H / SECTION-C =
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Y ST 11920 W TE & 3 AR T |

Question numbers 11 to 20 carry three marks each.

11 uiew fF HE o oer T quife @1 6q+1, 6q+3 T 6q+5 % T H fawen S gehal &, 6fFq 3
i qof e 2

Show that any positive odd integer is of the form 6q+1, 6q+3 or 6G+5 where q is some
whole number.

-

12 frefofiaa Yas Tl & g0 1 T faf g e |ifse 3R 9 s & o 9wt s 3
ﬁ'ﬁi’@ﬁﬁ?x—ﬂ&ﬁmw%; '

x—y—1=0, x+1=0.

Solve the following system of linear equations graphically and find the vertices of the triangle
bounded by these lines and x —axis :

x—y—1=0, x+1=0.

13 Wx2+(3—ﬁ)x—3ﬁaﬂ@wﬁ%lW%mwmﬁﬁq. 3

If one zero of a polynomial x? + (3 = ﬁ)x — 342 is +/2, then find the other zero.

14 T GEH S A U A R0 TR A R 3 S % =g i | i :

In aright angled triangle one acute angle is double the other. Find the acute angles.

15 freAferfaa st % 7 gwey ¥ 91 e afx vy 8, @ wwewa $ w4l fafa) 3

@)
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(b)

State whether the given pairs of triangles are similar or not. In case of similarity mention the
criterion.

(a) )

>

(b)
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16 AABC 3R AEBC U& & SR BC W ¥ 1 4afg AE 9gM W BC F1 D W Wii=se #a &, o fag #ifsw 3

fip . & (AABC) _ AD
ar (AEBC) ED

A

B D C

AABC and AEBC are on the same base BC. If AE produced intersects BC at D then, prove that
ar (AABC) _ AD
ar (AEBC) ED

A
E
B D g,
17 (tr:11160°)2 +4 cos? 45° +4cosec? 60° +2c0s > 90° 3

2 cosec 30°+ 3 sec 60° —g cot?30°

Page 6 of 11




(tan60° )*+4 cos®45° +4cosec?60° +2cos?90°
2 cosec 30°+ 3 sec 60° _% cot?30°

Evaluate :

18 fiacosd+b sinh=x T a sind—b cosd =y, g FTC a2+ b2= x> +17.

If a cosb +b siné = x and a sind —b cosd =y, prove that a® + b*= 2+

19 fi |2 1 Sgas A1 HiT |

o5 a79dl 25 1 e | 52

35 3%aT 35 T AfuE | 47

45 21941 45 | 3Afus | 37

55 J1gar 55 | fen | 17

65 3191 65/ Afae | 8

75 a3gE 75 | SAfueE | 2

85 31era 85 | Atk | 0

Calculate the mode of the following distribution table :

(Marks ‘ No. of students

25 or above 25 52

35 or above 35 47

45 or above 45 37

55 or above 55 17

65 or above 65 8
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75 or above 75 2

85 or above 85 0

20 UF T CETEH CREE § @ $9 ST 9N T a9 3T fer SIS wiwn & st At wen 3
IRARA sied 791 WhR | 9T T 7

&R = 9= 1-4 4-7 7-10. | 1013 | 13-16 | 16-19

IqAMI T g | 10 25 35 x 12 8

afg % Tea1 € b SUUT S 1 Fgerh 8 8, Al T ARARAT (x) T ol |

Some surnames were picked up from a local telephone directory and the frequency
distribution of the number of letters of the English alphabets was obtained as follows :

Number of letters 1-4 4-7 7-10 10-13 | 13-16 | 16-19

Number of surnames | 10 25 35 X 12 8

If it is given that mode of the distribution is 8, then find the missing frequency (x).

@Us-2 / SECTION-D
TH A 21 A3 T TAF & 4 3F B |

Question numbers 21 to 31 carry four marks each.

21 ww fierd i 3 396 ST iR 342 TWIeel SAY | 399 3% fewi H TENl UH fe A 4
AT & A1 e T ST We §UH §1 Ieks feed H el S A fier il U den
Fia Fifey for fesll w1 9@ w0 9 S48 '

A sweet shopkeeper prepares 396 gulab jamuns and 342 ras-gullas. He packs them in
containers. Each container consists of either gulab jamuns or ras-gullas but have equal
number of pieces. Find the number of pieces he should put in each box so that number of
boxes are least.

22 a 3R b F 5 TAT ¥ for FreAferfaa Was el & 3m F o0 e ¢ 2 4

2x+3y=7,a(x+y)—bx—y)=3a+b-2
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For what values of a and b does the following pair of linear equations have infinite number of
solutions ?

2x+3y=7,a(x+y)—-b(x—y)=3a+b-2

23 ufE 9EE ad+2:3 + 8x2+12x + 18 F T WEUE 2245 W T W WITHA px+q ¥, A p ARqF 4
HH 9 IS |

If the polynomial (x4+2x3+8x2+12x+18) is divided by another polynormal (x2+5), the
remainder comes out to be (px +q), find the values of p and g.

24 T IO T 245 — 453 + 242+ 5x + 1 G YGRTd e S| 39 W8 &I faeerd & <4 ol i fen 4
e, feR e 10 F YoE dav § wew e ww o ¥ v faenedf w3 —4x+1 T
fireft &R 2 F A 21y — 3 w1 o= | Forererd gurer 7 39 T § i w9 @ FEER Sl
¥ fou e ST I B S Hen 9h Firy, fR g v fran s F 8 e i T E?

The school decided to create fund represented by 2x5—4x3 +2x2+5x + 1. The fund is equally
divided between students of the school who has secured 15t Rank in each section of class 10.
Each student receives an amount of 13 —4x + 1, while after distribution, 21x —3 amount is left.
The School Management decides to use this amount to fund economically weaker students.
Find the number of students who received the fund. What values have been depicted here ?

25 AABC T G oy § i «B=90° ¥1 AB 3R BC % #ea-foig #mw: PR Q&1 fag 4
wifee faF:

(i)  4PC?=4BC>+AB?
(i) 4 AQ2: 4 AB%+BC?
(i) 4PC?2+4 AQ?=5AC?

AABC is right triangle with #B=90°. P and Q are respectively mid-points of AB and BC.
Prove that :

(i)  4PC?=4BC2+AB?

(i) 4AQ*=4ABZ+BC?
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26

27

28

29

30

(i) 4PC2+4AQ*=5AC?

-

VG F ITE 5m AR5 m T TN I TH TR Y 100 m F T WE |y @9 & 390 far =1 4
TR @Y & frae foat § Sl & fau v g 1 3 36 vaEd % v fag i SEE I
Hifse |

If two poles 5 m and 15 m high are 100 m apart, then find the height of the point of
intersection of the line joining the top of each pole to the foot of the opposite pole ?-

A sind = ——2—_ A 31 PR SUE % U TR F R -
TR -

- , find the value all other trigonometric ratios.

if sinf = ———=
\/az +b? .

fas ﬂﬂm s 4
2(sin®0 + cos®0) — 3(sin%0 + costf)=—1

Prove :

2(sin + cos®) — 3(sin0 + cost)= —1

fag =ifsT : _ ' ' 4

cotd+cosecf—1 _ 1+cosf
cotd—cosecf+1 sinf

Prove that :

cotd+cosecd—-1  1+cosb
cotf—cosecf+1 sinf

ot ww o § u srevae § Sifige @R aiet ereen & UFTE @ ety w1 faawe A= e mn g 4
Y7L T 3G 1 ATA T HIC
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3y (Fdi H) 0-8 8-16 | 16-24 | 24-32 | 32-40 | 40-48 | 48-54 | 54-62 -

i = HE | 6 25 12 13 11 14 11 8

Following is the ages of asthmatic patients admitted during a year in a hospital. Find the
mean age of the patients.

Age (inyears) |0-8 [8-16 |16-24 | 24-32 | 32-40 | 4048 | 48-54 | 54-62

Number of
patients

31 =1 diew, U Fan & 60 faenfelai & v qoiar ®1 3 faenfd=l & v qon Sgore R TE wife 1 4

6 25 12 13 11 14 11 8

R (kg ®) 40-44 | 44-48 | 48-52 | 52-56 | 56-60 | 60-64 | 64-68 | 68-72

— -
. 4 6 10 14 10 8 6 2
q&A1

The following distribution gives the weights of 60 students of a class. Find the mean and
mode weights of the students.

Weight
40-44 | 44-48 | 48-52 | 52-56 | 56-60 | 60-64 | 64-68 | 68-72
(inkg)
Namber o | 6 10 |14 |10 |8 6 2
students
-0(00000-
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